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Q1T1  Review

Evaluate the following: 

1. (-4) – (-6) = 
2. 5 – (-10) = 
3. (-7) + (-4) = 
4. 8 + (-9) = 
5. (-12) / (-3) = 
6. 100 / (-5) = 
7. (-25) X 4 = 
8. (-9) X (-3) = 
9. |-3| + |-54| = 
10. |-19| - 3 =    
11. |-9|  [image: image2.png]


 |-3| + |-10| = 
12. |13| x |2| = 
13. 25 + |-25| = 

14. What is the absolute value of 35?

15. Trey had 45 marbles. Trey lost all of them playing with friends. How many marbles does Trey have left?

16. What is the absolute value of -79?
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 |-3| + |-12| = 

12. |13| x |2| = 

13. 25 + |-25| = 

14. What is the absolute value of 35?

15. Trey had 45 marbles. Trey lost all of them playing with friends. How many marbles does Trey have left?

16. Jaylin had $225. He went to the Nike factory and he purchased one pair of socks for $30 and a pair of shoes for $195. How much money does Jaylin have left?

